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bl b yanl (]
A =2(3x —1)+5(—2+x)
=6x —2-10+5x
=6x +5x —=2-10
=11x —12

B =(3x +1)(2+x)
=3x (2+4x)+1(-2+x)
=—6x +3x2-2+x
=3x2—6x +x =2
=32 _5x -2
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Db dedail (2
C =12x%+6x —18xy
=6x x2x +6x x1-6x x3y
=6x (2x +1-3y)

D =(2x +5)(x +1)=(x +1)(x +3)
=(x +1)[(2x +5)—(x +3)]
=(x +1)(2x +5—x—3)
=(x +1)(x +2)
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| (a+b)2:a2+2ab +b? I
| |
: (a—b)2:a2—2ab +b? |
- (a+b)(a-b)=d’-b> |
\ ...................................... /
+ ol daled) clabiall — (2
(3-5x )" =32 —2x3x5x +(5x )’ § (2x +1)* = (2x )" +2x2x x1+12
=9-30x +25x° =4x % +4x +1

(7x +2)(7x =2) = (7x )* -2

=49x% -4
 Jaal 5 Aalgl) iilaiall — (3
81-54x +9x2 =(9)" —2x9x3x +(3x)° | 16x2+40x +25=(4x )’ +2x4x x5+5
=(9-3x )’ = (4x +5)’

144x% —49 = (12x )’ =72
=(12x +7)(12x —7)





